O V81 =9

@ &9 AlFL2 firt

@ AJFZ0.49 = V0.49 = 0.7
@ 6.4° AlFL=+V64




b,—(-5)2=cat &, a®+2b-c 9
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@ 30 @ 35 @40 @ 45 ® 50

V52=5, \/(-5)2=5,-/(-5)2%=-5
w2bA, a? +2b— ¢ = 25+ 10 + 5 = 40 ©|t}.




3. —l<x<29dd ox-1)7 - (2- 22 & ] ohR?

O -2x-3 @ -2x-1 B3 3

@ 2x-3 ®)2x -1

B

“1<x<24<d,
-3<-x-1<00°]20<2-x<30/B2
S (GO A) = x—1- 2 - A

= —(~x-1)-(2-%)

=x+1-2+4+x

=2x—-1
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D V75<9 @ -V3<-V2

(3)0.3 > V0.3 @ -1/ </t

= et
i

10.09 < V0.3 ©]| 22 0.3 < V0.3 o]t}
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@ V36 © 25 ® /(-3)2
49 81
® 1.6 @3 @E
® 6,0 @ 0 ® ®o. e
@ 9, 0,06 ® 0O 66

& V36 =6 0|22 6 2] ABZL £ V6ol
© (3F =30lu2 3 9| ABZL V3ot
® (1.6 ©) ABR) = £ VTG (16 & AFH7F ohich)

e (Laazz)- i%




V3=a, V30 =02, V300 o] &= x, V0.3 9 2y L
x 2ty £ abE °l-§5te] YERH?

b
— 100a, y = 10b —10a,y= —
D x a,y (@)x a,y 12
a
® x 00b , y %80 @ x Oa,y 100

= 10ab ,y = —
® x ab,y=-

rok

B

V300 = V3 x 100 = 10 V3 = 10a
S.ox = 10a
30 V30 b

VO3 = V100~ 10 ~ 10




f(x) = VxF 2= Vx+ 1T L W, £(0)+£(1)+£(2)+---+£(99)+£(100)
o] gr& F5hH?
O -1 @ V101-1 @ V102 -1

@ V102- V101  ® V102

B

f0)=V2-Vi=-1++2
f)=V3-V2=-v2+ V3
f(2)= Vi- V3=-V3+ V4.
£(99) = V101 - V100 = - \/WJM/W
£(100) = V102 — V101 = — V101 + V102
S f0) + F(1) 4+ f(2) + -+ + £(99) + £(100)

= -1+ v2-V2+ V3+-V3+ Vd+--- - V100 + V101 -
V101 + V102

= =14+ (V2= V2)+ (V3- V3) + (V4 +---— V100) + (V101 -
V101) + V102

~1+4(0) + (0) + (0) + V102

-1+ V102




8. A< VaTb<5EWMEGE 32 vl a9h 4% b o oho] A%
(a, b) = B 2 A Fotolet.
= 4

> = 107

4< Va+2b<5 oA Zt HES AlFSHAE 16 <a+2b < 25

b AgolBR

b=29 1, 12<a<21 0] ax 39 H5o|RE g =15,18
b=391,10<a<19°] g =3 2 H|$O|EE g = 12,15,18
b=59 W 6<a<15°]ila=3 9 HlFO|ERE g =09, 12
b=79 1, 2<a<1lax3 2 H5o|22 ¢ =23,6,9
b>11% &Y o, Fo|X 21-& THESt=a = Tt

wetA] 4% (a, b) O 4= 24+3+2+3 =10 (7H) o]t




9.

V3+19 44 HEEa3- V3 2FREZH T, (x,

(a, b) = A V3(x+m)+ny—-11=0 2 sJoltk m, n 9] g2 27

Fafolat,
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pdd
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2<V3+1<39BE2a=V3+1-2=+3-1
1<3-V3<290B2p=3-V3-1=2-13

a, b V3(x+m)+ny—11=0 o H¢JshA
V3(V3-14+m)+n(2-V3)-11=0
V3(m-n-1)+2n-8=0

Gt m-n-1=0,2n-8=0= AU} HAm =5, n=
oJtt.
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10.

ARG A, B, C7F QIek A 9] Holk s ol Al Holt BY 2
#l, Bl ol € o] 3uled o, C o] WolE 5B A§T 402 et
Holet.

(B2] Wol) = & x (AS] Hol) = s
(02 §o]) = 5 x (BS] Hol) = 3 x 55 = s
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